
Pa
te

nt
 P

en
di

ng

Note: All power connections to be installed to local/national codes by a Certified Electrician.

Finelite, Inc.  •  30500 Whipple Road  •  Union City, CA 94587-1530  •  (510) 441-1100  •  Fax: (510) 441-1510  •  www.finelite.com

1 of 2

©
 2018 FINELITE, INC. ALL RIGHTS RESERVED.   Form

 98405 V2.   EFFECTIVE DATE: 10/31/18

HP-WS Perimeter Slot T-Bar Pocket Endcap Installation Instructions  
(To be used in addition to T-Bar Installation Instructions)

A B
Rail Placement

For Wall Rail placement, use the table to help you find where the height of the  
Wall Rail will be mounted. Mark wall for "Y" dimension, make sure lines are level.

To find the "X" dimension for mounting the Wall Rail, factor 1/16" from where the pocket 
end will be once mounted. That "X" and "Y" from Step A will give you your reference point.  

Studs
1/16" gap between installed  

Wall Rail and Pocket End Cap

Wall Rail

Tolerances on dimensions are ± 1/16"

Height Configuration Y = Height of Bottom of the Wall Rail

2" Ceiling Height A.F.F. + 2-1/8"

4" Ceiling Height A.F.F. + 4-1/8"

6" Ceiling Height A.F.F. + 6-1/8"

X Y

Reference Point

Ceiling Tile

T-Bar

Pocket End

Pocket Endcap

Wall

(at beginning of installation)



Pa
te

nt
 P

en
di

ng

Note: All power connections to be installed to local/national codes by a Certified Electrician.

Finelite, Inc.  •  30500 Whipple Road  •  Union City, CA 94587-1530  •  (510) 441-1100  •  Fax: (510) 441-1510  •  www.finelite.com

2 of 2

©
 2018 FINELITE, INC. ALL RIGHTS RESERVED.   Form

 98405 V2.   EFFECTIVE DATE: 10/31/18

HP-WS Perimeter Slot T-Bar Pocket Endcap Installation Instructions  
(To be used in addition to T-Bar Installation Instructions)

C D
Endcap Support Finishing

Locate a T-Bar Bracket (provided). Bend it 90 degrees as shown. Align the T-Bar Bracket to the slot in 
the extruded portion of the Pocket Endcap. Rotate the T-Bar Bracket 90 degrees so the tab with holes is 
parallel to the wall. Put in edging piece. Slide T-Bar Bracket towards the wall until contact. Set bracket 
into place by screwing in a #8-18 screw (provided). Use appropriate #10 screws (by others) to fasten 
T-Bar Bracket to wall.

Cut appropriate reliefs from ceiling tiles so they fit around fixture. 

#10 Screw(s)
(by others)

T-Bar  
(by others)

Relief cutout for 
Pocket End

Ceiling Tile

Edging Piece  
(by others)

Edging Piece  
(by others)

T-Bar Bracket
(provided)

#10 Screw
(by others)

#8-18 Screw
(provided)

(during Support to Structure phase) (after T-Bar Runners and wall edging pieces are in place)

T-Bar Bracket
(provided)

#8-18 x 1/4" Screw(s)
(provided)


